' ﬂ'ReservedeIer PCT1800

PCT1800-50Hz-P-230V /

ELECTRIC PULLING/LIFTING WINCH - 50Hz & 60Hz

PCT1800-60Hz-P-120V Pris eks. mva__|Pris inkl mva
10-0043 SPACER FOR SAFETY LIP kr 136,00 | kr 170,00
10-0044 SAFETY LIP FOR CAPSTAN DRUM 57 MM & 85 MM kr 546,00 | kr 682,50
10-0067 COUPLING SHAFT FOR ELECTRIC OR AIR MOTOR kr 726,00 | kr 907,50
10-0068 GUARD PLATE PCT1800-60Hz kr 281,00 | kr 351,25
10-0069 GUARD PLATE PCT1800-50Hz kr 215,00 | kr 268,75
10-0073 HANDLE ADAPTOR PCT1800 kr 242,00 | kr 302,50
10-0086 INPUT PINION kr 653,00 | kr 816,25
10-0094 WINCH HANDLE kr 145,00 | kr 181,25
10-0098 BUSHING FOR SAFETY HOOK kr 56,00 | kr 70,00
10-0101 ROPE ENTRY PULLEY kr 365,00 | kr 456,25
10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN kr 22,00 | kr 27,50
10-0103 ROPE KEEPER kr 319,00 | kr 398,75
10-0119 SHOULDER BOLT 5/8 X 1-1/2 - ZN kr 170,00 | kr 212,50
10-0170 CABLE HOUSING BRACKET kr 298,00 | kr 372,50
31-0010 HCS 1/2-13 X 6 - GR5 - ZN kr 80,00 | kr 100,00
31-0011 HCS 1/4-20 X 2-1/4 - GR5 - ZN kr 10,00 | kr 12,50
31-0014 HCS 3/8-16 X 1-1/2 - GRS - ZN kr 12,00 | kr 15,00
31-0019 HCS 3/8-24 X 1 GRS - ZN kr 12,00 | kr 15,00
31-0023 BHCS 1/4-28 X 1/2 - ZN kr 10,00 | kr 12,50
31-0024 BHCS 1/4-20 X 1 - SS kr 10,00 | kr 12,50
31-0025 BHCS 1/4-20 X 3/4 - SS kr 12,00 | kr 15,00
31-0033 SHCS 5/16-18 X 1-3/4 - SS kr 31,00 | kr 38,75
31-0080 SHCS 1/4-20 X 3/4 - SS kr 10,00 | kr 12,50
32-0002 HEX FLANGE SERRATED BOLT M6-1 X 12 MM - ZN kr 8,00 | kr 10,00
33-0005 NUT 1/2-13 NYLON - ZN kr 10,00 | kr 12,50
35-0004 FLAT WASHER 1/2 - ZN kr 8,00 | kr 10,00
35-0006 FLAT WASHER 1/4 - ZN kr 4,00 | kr 5,00
35-0013 FLAT WASHER 3/8 - ZN kr 4,00 | kr 5,00
35-0017 LOCK WASHER 3/8 - ZN kr 4,00 | kr 5,00
39-0008 OIL PLUG 3/8 - ZN kr 12,00 | kr 15,00
39-0028 TAPPING SCREW - SLOTTED HEX WASHER HEAD - TYPE B - 10-16 X 1/2 kr 6,00 | kr 7,50
41-0004 CABLE END kr 8,00 | kr 10,00
41-0018 THROTTLE CABLE ASSY PCT1800 kr 319,00 | kr 398,75
42-0008 PLUG 15A-125V - 2 POLES - 3 PRONG - SPLASHPROOF & DUST-TIGHT kr 363,00 | kr 453,75
42-0019 PLUG CEE 7/7 - 250V - 16 AMP GROUNDED kr 378,00 | kr 472,50
43-0000 KEY FOR COUPLING SHAFT (3/16 X 3/16 X 7/8) kr 12,00 | kr 15,00
43-0005 KEY FOR INPUT PINION (3/16 X 1/8 X 3/4) kr 8,00 | kr 10,00
43-0013 KEY FOR CAPSTAN DRUMS 57 MM, 85 MM, 108 MM (5/16 X 1-1/4) kr 37,00 | kr 46,25
44-0019 VINYL GRIP kr 50,00 | kr 62,50
70-0007 RGS - ATTACHMENT ASSEMBLY kr 1357,00 | kr 1696,25
70-0008 RGS - PIVOTING ASSEMBLY kr 6091,00 | kr  7613,75
70-0009 ELECTRICAL BOX ASSEMBLY (120V) kr 9951,00 | kr 12 438,75
70-0063 ELECTRIC BOX ASSEMBLY (230V) kr 11171,00 | kr 13 963,75
42-0021 ELEC. MOTOR VL3506 - 3/4 HP - 115 VAC-60Hz - 1 PH - TEFC - 3450 RPM Pris pa forespgrsel
42-0022 ELEC. MOTOR VL3506-50 - 3/4 HP - 220 VAC-50Hz - 1 PH - TEFC - 2850 RPM Pris pa forespgrsel
PCA-1100 85 MM CAPSTAN DRUM WITH ROPE GUIDE AND 2 SCREWS kr 1180,00 | kr 1475,00
10-0001 CAPSTAN DRUM 85 MM kr 773,00 | kr 966,25
10-0106 ROPE GUIDE FOR CAPSTAN DRUM 85 MM kr 523,00 | kr 653,75
PCA-1110 57 MM CAPSTAN DRUM WITH ROPE GUIDE AND 2 SCREWS kr 1062,00 | kr 1327,50
10-0096 CAPSTAN DRUM 57 MM kr 799,00 | kr 998,75
10-0100 ROPE GUIDE FOR CAPSTAN DRUM 57 MM kr 585,00 | kr 731,25
PCA-1281 SAFETY HOOK WITH LATCH kr 193,00 | kr 241,25




